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X X X X X X X X
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X X X X X X X X
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3.564
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N

N

N

N

N
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2 al
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2 a?
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464.160
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0.028
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0.014
0.019
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0.028
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0.016
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+ 4+ + + + + + +

+ 4+ + + + ++ + + +
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0.300
0.400
0.530
0.550
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34
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N

N

N

N

N

N

N

N
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4.990
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N

N
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N
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N

N
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(G1-G4#T)

H Stiff  0.120
0.120
0.120
0.120
0.120

(G2-G3#7)

H Stiff  0.120
0.120

-EHT A

XAl = 51855

X X X X X

+

1.130
0.970
1.120
1.141
0.960

1.130
0.970

44.349
95.664

N

X 2 x 31 x 2 = 16.814 m
X 2 x 13 x 2 = 6053 m?
X 2 x 1 x 2 = 0538 m?
X 2 X 2 X 2 = 1.095 m?
X 2 x 1 x 2 = 0461 m?
Ya9 = 24961 m?
X 2 x 34 x 2 = 18442 m?
X 2 x 14 x 2 = 6518 m?
Yal0 = 24960 m?
+ 464.160 + 464.160 + 110.867
+ 53484 + 64608 + 24961 + 24.960 = 1399.068 m?
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wWw w w
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0.390

(2&Ff)
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x 3
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X 2

X 2
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X 2

X 2

X X N X X

o ~ o

X X X X X
N NN NN
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0.696
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0.150
0.150
0.150
0.150
0.240
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0.240
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Guss 0.390
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X X X X
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0.012
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0.590
0.400
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0.580
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0.770
0.770
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X X X
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X X X X X X X X X X X
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1

—_
(=2}
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L
L

N N NN DN DNMNDNDDN
X X X X X X X X

+

( 0144 + 0.204
( 0118
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2.238
2.720
2.980
3.310
2.248
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2.990

56.97

X X X X X X X X

+
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)
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X
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42.734
2.053
1.565

28.890
2.022
0.725
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1.931
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2.990
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N
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N

N

N
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{ ( 0028
{ ( 0022
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X X X X X
N N NN N DN
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X X X X X
N NN DD NN
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0.400
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0.570
0.530
0.340
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~— N N Y N
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— —
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(G1-Gé4#r)
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(G2-G3#T)
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H Stiff  0.120
0.120
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0.028
0.025
0.019
0.014
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0.016
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0.970
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17.748
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N

N

N

N

N

2 ab

86.738

4.032
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LFlg { ( 0012
{ ( 0012

V Stiff 0100 x

0115 x

H Stiff 0100 X

0.100 x

Guss 0380 x

- R BT (ISW)

UFlg { (
{ <
Web 1.900
LFlg { (
{ «
V Stiff  0.100
0.115
H Stiff  0.100
0.100
Guss 0.400
L tii=hy
2A3 = 56.965

0.012
0.012
X
0.012
0.012
X
X

X
X
X

+

(28R

4+ 0250 ) x 2 - 0.009
4+ 0250 ) x 2 - 0.009
2486 x 3 x 2

4+ 0250 ) x 2 - 0.009
4+ 0250 ) x 2 - 0.009
1900 x 2 x 4 x 2
1900 x 2 x 1 x 2
2248 x 2 x 6 X 2
0451 x 2 x 4 X 2
0390 x 2 x 8 x 2

(18R

4+ 0250 ) x 2 - 0.009
4+ 0250 ) x 2 - 0.009
2366 x 3 x 1

4+ 0250 ) x 2 - 0.009
4+ 0250 ) x 2 - 0.009
1900 x 2 x 4 x 1
1900 x 2 x 1 X 1
2128 x 2 x 6 Xx 1
0451 x 2 x 4 x 1
0465 x 2 x T x 1
27.518

2.243
2.238

2.243
2.238

2123
2.118

2123
2118

4.621
2.305
28.340
4.621
2.305
3.040
0.874
5.395
0.722
4742

N

N

N

N

N

N

N

N

N

N

56.965

2.187
1.091
13.486
2.187
1.091
1.520
0.437
2.554
0.361
2.604

3|13 3. 3 3 3 3 3 3 3 3

N

N

N

N

N

N

N

N

N

N

N

> a2

27.518

84.483

3|13 3 3 3 3 3 3 3 3 3

m

N

2



4) T

CT
CT

CT 0.696

0.592
0.150
0.150
0.150
0.150
0.240
0.240
0.240
0.240

Guss 0.500

0.570

0.390

0.325

0.490

0.310

0.475

0.400

0.400

PL

N N e e T T T

LI EE

2A = 139264

@ BEET

X

X X X X X X X X X

144x204x12x10
118x178x10x8

3070 x 16
3050 x 16

0.012
0.012
0.012
0.012
0.010
0.010
0.010
0.010
0.990
1.100
0.770
0.400
0.790
0.600
0.830
0.790
0.780

+ 4+ + 4+ + + + +

X X X X X X X X X
N NN NN DN DNMDNDDN

+ 9156

X X X X X X X X X X X X X X X X X

L
L

N N NN DN DNMDNDDN
X X X X X X X X

—_
ONNA

[=> 2N e < TR - N

+

( 0144 + 0.204

( 0118

2.980
2.720
2.238
3.020
2.990
2.730
2.248
3.030

84.48

X X X X X X X X

+

+ 0.178

A NN DN B BN DN DS

116.70

) X 2
) X 2

0.696 m
0592 m

N

34.188
28.890
3.862
1.763
1.450
3.914
5.980
2.730
2.248
6.060
1.980
1.254
2.402
0.520
1.548
5.952
3.154
5.056
3.744

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

2 A4

3|13 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3

N

116.695

1685.38  m?

1685.38 m?2



(3) 3%&M (P2~P3)

® ~LoT

1) E#M

(G1-G4#T)

UFlg  ( 0.016
( 0.019
( 0.025
( 0.028
( 0.022
( 0.019
( 0.022
( 0.025

(G2-G3#T)

UFlg ( 0014
( 0.016
( 0.022
( 0.025
( 0.019
( 0.019
( 0.022

(G1-Gé4#r)

Web 2.400

(G2-G3#T)

Web 2.400

X

X

0.340
0.390
0.530
0.560
0.420
0.370
0.550
0.740

X X X X X X X X
N N DD NN NN NN DN
+ 4+ + 4+ + + + +

0.300
0.350
0.470
0.490
0.340
0.440
0.620

X X X X X X X
N N N DD NDNDNDN
+ 4+ + 4+ + + +

48350 Xx 2 X

48350 x 2 X

0.012
0.012
0.012
0.012
0.012
0.012
0.012
0.012

0.012
0.012
0.012
0.012
0.012
0.012
0.012

—

—

X X X X X X X X

X X X X X X X

4.050
3.700
5.600
18.300
5.200
4.500
4.500
2.500

8.550
3.700
5.600
18.300
5.200
4.500
2.500

X X X X X X X X
N NN NN DNDDNMDDN

X X X X X X X
N N NN DN NN

2916
3.078
6.362
22.106
4.701
3.564
5.238
3.890

N

N

N

N

N

N

N

N

2 al

51.855

5.404
2.738
5.622
19.325
3.806
4194
3.260

313 3. 3 3 3 3 3 3

N

N

N

N

N

N

N

N

2 a?

44.349

464.160

3,13, 3, 3. 3, 3, 3, 3

3

N

> a3

464.160

464.160

2 a4

464.160



(G1-G4#T)

LFlg [ ¢

{

{

{

{

{

{

{

{
(G2-G3#1)
LFlg [ (

{

{

{

{

{

{

{

{

{
(G1-G4#r)

V Stiff  0.210
0.140
0.150
0.090

(G2-G3#1)

V Stiff  0.210
0.140
0.150

0.014
0.016
0.022
0.025
0.030
0.028
0.019
0.028
0.032

0.014
0.014
0.019
0.022
0.028
0.025
0.016
0.019
0.025
0.028

X X X X

+ 4+ + + + + + +

+ 4+ + + + ++ + + +

2.400
2.400
2.400
0.150

2.400
2.400
2.400

0.380
0.460
0.590
0.630
0.630
0.630
0.490
0.540
0.660

0.300
0.400
0.530
0.550
0.550
0.550
0.400
0.380
0.490
0.600

X X X X
N N NN

~— N N N N

R L L N I N W . g g

X X X X

X X X X X X X X X
N NN NN DN DNMDNDDN

X X X X X X X X X X
N N N NN DN DNMDNDDNDDN

34
34

43

X X X X
N N NN

0.012
0.012
0.012
0.012
0.012
0.012
0.012
0.012
0.012

0.012
0.012
0.012
0.012
0.012
0.012
0.012
0.012
0.012
0.012

X X X X X X X X X

X X X X X X X X X X

4.050
3.700
5.600
15.100
1.600
1.600
9.700
4.500
2.500

4.050
3.700
5.600
15.100
1.600
1.600
5.200
4.500
4.500
2.500

X X X X X X X X X
N NN NN DN DNMDNDDN

X X X X X X X X X X

N N N NN NN DM M DNDDN

6.286
6.956
13.574
39.200
4.186
4173
19.516
10.116
6.860

N

N

N

N

N

N

N

N

N

> ab

110.867

4.990
6.038
12.163
34.186
3.661
3.642
8.528
7.074
9.162
6.220

313 3. 3 3 3 3 3 3 3

N

N

N

N

N

N

N

N

N

N

N

> ab

95.664

4.032
2.688
48.960
1.836

3|13 3 3 3 3 3 3 3 3 3

N

N

N

N

> a7

57.516

4.032
2.688
61.920

313 3 3 3

N

N

N

2 a8

68.640

313 3 3

N



(G1-G4#T)

H Stiff  0.120
0.120
0.120
0.120
0.120

(G2-G3#7)

H Stiff  0.120
0.120

-EHT A

XAl = 51855

X X X X X

+

1.130
0.970
1.120
1.141
0.960

1.130
0.970

44.349
95.664

N

X 2 x 31 x 2 = 16.814 m
X 2 x 13 x 2 = 6053 m?
X 2 x 1 x 2 = 0538 m?
X 2 X 2 X 2 = 1.095 m?
X 2 x 1 x 2 = 0461 m?
Ya9 = 24961 m?
X 2 x 34 x 2 = 18442 m?
X 2 x 14 x 2 = 6518 m?
Yal0 = 24960 m?
+ 464.160 + 464.160 + 110.867
+ 57516 + 68640 + 24961 + 24.960 = 1407132 m?



2) xHEE
- Um*HERE (ESW) (1%PT)
[ 300x90x9x13

L 130x130x12
CT 95x152x8x8

[ 0942 x 2246 x 2
0942 x 2266 x 1
L 0520 x 1850 x 3
0520 x 1890 x 3
CT 0494 x 2270 x 3
Guss 0320 x 0380 x 2
0340 x 0400 x 2
0300 x 0380 x 2
- R XHERE
(SW-1) (4R FR)
L 100x100x10
L 90x90x10
L 0400 x 2250 x 6
0360 x 2020 x 3
0360 x 1950 x
Guss 0300 x 0470 x 2
0300 x 0330 x
0230 x 0300 x 2
(SW-2) (SEFT)
L 100x100x10
L 90x90x10
L 0400 x 2250 x 6
0360 x 2020 x 3
0360 x 1950 x
Guss 0300 x 0470 x 2
0300 x 0330 x
0300 x 0320 x
xHEE S E

L

X X X x x O

L
L
X
X
X

L
L
X
X
X

2A2= 19207 + 51.206 + 39.377

4
4
4

wWw w w

(

0.300

0.130
0.152

0.100
0.090

0.100
0.090

x 2 + 0.090

X 4
+ 0.095

x 4
X 4

x 4
X 4

)

X

X

4

2

— 0009 x 2
0942 m

0520 m

0494 m

= 4.231
= 2135
= 2.886
= 2.948
= 3.364
= 1.459
= 0.816
= 1.368

N

N

N

N

N

N

N

N

2al = 19.207

0400 m

0360 m

21.600
= 8.726
= 8.424
= 6.768
= 2.376
= 3.312

313 3. 3 3 3 3 3 3

N

N

N

N

N

N

2 a2 51.206

0400 m

0360 m

16.200
= 6.945
= 6.318
= 5.076
= 1.782
= 3.456

3|13 3 3 3 3 3

N

N

N

N

N

N

N

2a3 = 39377

= 109.790

3|13 3 3 3 3 3

N

2
m



3) #EMT

-EctatT  (FB)
UFlg { ( 0012
{ ( 0012

Web 1.900 x
LFlg { ( 0012
{ ( 0012

V Stiff 0100 x

0115 x

H Stiff 0100 X

0.100 x

Guss 0380 x

- R BT (ISW)

UFlg { (
{ <
Web 1.900
LFlg { (
{ «
V Stiff  0.100
0.115
H Stiff  0.100
0.100
Guss 0.400
L tii=hy
2A3 = 56.965

0.012
0.012
X
0.012
0.012
X
X

X
X
X

+

(28R

4+ 0250 ) x 2 - 0.009
4+ 0250 ) x 2 - 0.009
2486 x 3 x 2

4+ 0250 ) x 2 - 0.009
4+ 0250 ) x 2 - 0.009
1900 x 2 x 4 x 2
1900 x 2 x 1 x 2
2248 x 2 x 6 X 2
0451 x 2 x 4 X 2
0390 x 2 x 8 x 2

(18R

4+ 0250 ) x 2 - 0.009
4+ 0250 ) x 2 - 0.009
2366 x 3 x 1

4+ 0250 ) x 2 - 0.009
4+ 0250 ) x 2 - 0.009
1900 x 2 x 4 x 1
1900 x 2 x 1 X 1
2128 x 2 x 6 Xx 1
0451 x 2 x 4 x 1
0465 x 2 x T x 1
27.518

2.243
2.238

2.243
2.238

2123
2118

2123
2118

4.621
2.305
28.340
4.621
2.305
3.040
0.874
5.395
0.722
4742

N

N

N

N

N

N

N

N

N

N

56.965

2.187
1.091
13.486
2.187
1.091
1.520
0.437
2.554
0.361
2.604

3|13 3. 3 3 3 3 3 3 3 3

N

N

N

N

N

N

N

N

N

N

N

> a2

27.518

84.483

3|13 3 3 3 3 3 3 3 3 3

m

N

2



4) T

CT 144x204x12x10 L = ( 0144 + 0204 ) x 2 = 0696 m
CT 118x178x10x8 L = ( 0118 + 0178 ) x 2 = 0592 m

CT 0696 x 3070 x 20 = 42734 m?

0696 x 2950 x 1 = 2053 m?

0696 x 2248 x 1 = 1565 m?

0592 x 3050 x 16 = 28890 m?

PL ( 0150 + 0012 ) x 2 x 3120 x 2 = 2022 m?

( 0150 + 0012 ) x 2 x 2238 x 1 = 0725 m?

( 0150 + 0012 ) x 2 x 2720 x 1 = 0881 m?

( 0150 + 0012 ) x 2 x 2980 x 2 = 1931 m?

( 0240 + 0010 ) x 2 x 3310 x 2 = 3310 m?

( 0240 + 0010 ) x 2 x 2248 x 1 = 1124

( 0240 + 0010 ) x 2 x 2730 x 1 = 1365 m?

( 0240 + 0010 ) x 2 x 2990 x 2 = 2990 m?

Guss 0390 x 0590 x 2 x 2 = 0920 m?

0315 x 0400 x 2 x 3 = 0756 m?

0390 x 0600 x 2 x 1 = 0468 m?

0310 x 0600 x 2 x 18 = 6696 m’

0325 x 0400 X 2 x 2 = 0520 m?

0360 x 0580 x 2 x 1 = 0418 m?

0400 x 0790 x 2 x 10 = 6320 m?

0400 x 0780 x 2 x 6 = 3744

0400 x 0770 x 2 x 2 = 1232 m?

0390 x 0770 x 2 x 2 = 1201 m?

0490 x 0790 x 2 x 1 = 0774 m?

0500 x 0990 x 2 x 2 = 1980 m?

0570 x 1100 x 2 x 1 = 1.254 m?

A4 = 115873 m?
LU IEE

>A = 140713 + 10979 + 8448 + 11587 = 171727 m?
@ BEET

A = 171727 m?



(4)41ZE (P3~P4)

® ~LoT

1) E#M

(G1-G4#T)

UFlg ( 0019
(0022
( 0.025
(0019
( 0.022
( 0.025
(0028

(G2-G3#T1)

UFlg ( 0016
(0019
(0019
(0016
(0019
( 0.022
( 0.025

(G1-G4#T)

Web 2.400

(G2-G3#T1)

Web 2.400

X

X

0.340
0.370
0.450
0.460
0.460
0.600
0.730

X X X X X X X
N N N DD NDNDNDN
+ 4+ + 4+ + + +

0.310
0.310
0.410
0.420
0.420
0.550
0.640

X X X X X X X
N N DD N NN DN
+ 4+ + 4+ + + +

44850 x 2 X

44850 x 2 X

0.012
0.012
0.012
0.012
0.012
0.012
0.012

0.012
0.012
0.012
0.012
0.012
0.012
0.012

—

— N

X X X X X X X

X X X X X X X

13.250
5.300
16.300
3.200
1.800
2.900
2.100

13.650
5.300
15.900
3.200
1.800
2.900
2.100

X X X X X X X
N N NN DN NN

X X X X X X X
N NN NN DNN

9.699
4.261
15.909
3.110
1.771
3.700
3.251

N

N

N

N

N

N

N

2 al

41.701

9.009
3.562
13.865
2.816
1.606
3.376
2.848

3|13 3 3 3 3 3 3

N

N

N

N

N

N

N

N

> a2

37.082

430.560

3,.[3, 3. 3. 3, 3, 3, 3

3

N

2 a3

430.560

430.560

> a4

430.560



(G1-G4#T)

LFlg [ ¢

{

{

{

{

{

{

{
(G2-G3#)
LFlg [ ¢

{

{

{

{

{

{
(G1-G4#r)

V Stiff  0.140
0.150
0.090

(G2-G3#)

V Stiff  0.140
0.150

0.016
0.019
0.025
0.022
0.028
0.025
0.030
0.034

0.014
0.016
0.025
0.019
0.022
0.028
0.030

+ 4+ + + + ++ o+

+ 4+ 4+ + + + +

2.400
2.400
0.150

2.400
2.400

0.400
0.430
0.490
0.490
0.490
0.500
0.610
0.690

0.340
0.360
0.410
0.410
0.480
0.550
0.640

— N N N N

R ™ L g N N

X X X X X X X X
N N NN DN DNMDNDDN

X X X X X X X
N NN NN NN

31
31

39

0.012
0.012
0.012
0.012
0.012
0.012
0.012
0.012

0.012
0.012
0.012
0.012
0.012
0.012
0.012

X X X X X X X X

X X X X X X X

13.250
5.300
1.600

13.100
1.600
5.000
2.900
2.100

13.650
5.300
3.200

12.700
5.000
2.900
2.100

X X X X X X X X
N N NN DN DNMNDNDDN

X X X X X X X
N NN NN DNN

21.730
9.392
3.258

26.514
3.277

10.380
7.354
6.031

N

N

N

N

N

N

N

N

2 ab

87.936

19.001
7.844
5.491

21.488
9.920
6.635
5.578

3|13 3. 3 3 3 3 3 3

N

N

N

N

N

N

N

N

> ab

75.957

2.688
44.640
1.674

313 3. 3 3 3 3 3

N

N

N

N

2 a7

49.002

2.688
56.160

313 3 3

N

3

3

N

2 a8

58.848



(G1-G4#7)
HStff 0130 x 1118 x 2 x 8 X 2 = 4651

N

m
0130 x 1180 x 2 x 22 x 2 = 13499 m?
0130 x 1020 x 2 x 10 X 2 = 5304 m?
Ta9 = 23454
(G2-G3#T)
HStff 0130 x 1118 x 2 x 8 x 2 = 4651 m?
0130 x 1180 x 2 x 22 x 2 = 13499 m?
0130 x 1020 x 2 x 10 x 2 = 5304 m?
Yal0 = 23454 p?
-EHTEE

2A1= 41701 + 37.082 + 430.560 + 430.560 + 87.936
+ 75957 + 49.002 + 58.848 + 23.454 + 23.454 = 1258554 m?



2) xHERE

- Um*HERE (ESW)

[ 0.942
0.942
L 0.520
0.520
CT 0.494
Guss 0.320
0.340
0.300

- o ] et {4

X X X X X X X X

(SW-1) (4&EFR)

L 0.400
0.360
0.360
Guss 0.300
0.300
0.230

X X X X X X

(SW-2) (2&FR)

L 0.400
0.360
0.360
Guss 0.300
0.300
0.300

- SHERE S E
TA2= 19.188

X X X X X X

+

(18R

300x90x9x13 L = 0300 x 2 + 0090 x 4 — 0009 x 2

= 0942 m

130x130x12 L = 0130 x 4 = 0520 m

CT 95x152x8x8 L = ( 0152 + 0095 ) x 2 = 0494 m
2241 x 2 x 1 = 4222 m?
2256 x 1 X 1 = 2125 m?
1850 x 3 x 1 = 2886 m?
1890 x 3 X 1 = 2948 m?
2270 x 3 x 1 = 3364 m?
0380 x 2 x 6 x 1 = 1459 m?
0400 x 2 x 3 x 1 = 0816 m?
0380 X 2 X 6 X T = 1368 m?
Tal = 19188 m?

100x100x10 L = 0100 x 4 = 0400 m

L 90x90x10 L = 009 x 4 = 0.360 m
2250 x 6 Xx 4 = 21600 m?
2020 x 3 x 4 = 8726 m?
1.950 X X 4 = 8424 2
0470 x 2 x 6 X 4 = 6.768 m?
0330 x 2 x 3 Xx 4 = 2376 m?
0300 x 2 x 6 X 4 = 3312 m?
Ya2 = 51206 m?

100x100x10 L = 0100 x 4 = 0400 m

L 90x90x10 L = 0090 x 4 = 0.360 m
2250 x 6 X 2 = 10.800 m?
20200 x 3 x 2 = 4363 m?
1.950 X X 2 = 4212
0470 x 2 X 6 X 2 = 3384 m?
0330 x 2 x 3 x 2 = 1188 m?
0320 x 2 X 6 x 2 = 2304 m?
Ya3 = 26251 m?
51.206 + 26.251 = 96645 m?



3) #EMT

- ECTEAT

U Flg

Web
L Flg

V Stiff

H Stiff

Guss

{
{

{
{

(

(
1.900
(

(
0.100
0.115
0.100
0.100
0.380

(F.B)
0.012
0.012

X
0.012
0.012

X

X

X

X X

+
+
2.486
+
+
1.900
1.900
2.248
0.451
0.390

(2&Ff)
0.250
0.250

x 3
0.250
0.250

X 2

X 2

X 2

X 2

X 2

X X N X X

o ~ o

X X X X X
N NN NN

0.009
0.009

0.009
0.009

2.243
2.238

2.243
2.238

X 2 = 4621 m?
X 2 = 2305 m?
= 28340 m?
X 2 = 4621 m?
X 2 = 2305 m?
= 3040 m?
= 0874 m?
= 5395 m?
= 0722 m?
= 4742 n?
TA3 = 56965 m?



4) T

CT
CT

CT 0.696
0.696
0.696
0.696
0.592
0.150
0.150
0.150
0.150
0.240
0.240
0.240
0.240
0.390
0.315
0.310
0.325
0.360
0.400
0.400
0.300
0.400
0.300
0.390
0.490

PL

N AN AN A AN AN A

Guss

LI EE
SA =

@ BEET

X X X X X

X X X X X X X X X X X X

1258.55

144x204x12x10

118x178x10x8

3.060
2.960
2.248
3.120
3.110
0.012
0.012
0.012
0.012
0.010
0.010
0.010
0.010
0.580
0.400
0.600
0.400
0.400
0.790
0.780
0.580
0.800
0.600
0.750
0.770

+ 4+ + 4+ + + + +

X

X X X X

X X X X X X X X X X X X
N N DD NN DN DNMDNDDNDDNMNMDNDDN

N
o

— —

+  96.65

X X X X X X X X X X X X X X X X X X X X

L
L

N NN NN DNDDNDDN
X X X X X X X X

N N W W

10
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+

( 0144 + 0.204
( 0118

3.110
2.238
2.790
2.960
3.120
2.248
2.800
2970

56.97

X X X X X X X X

+

+ 0.178

101.09

)
)

X

X

2
2

0.696 m
0592 m

N

8.519
2.060
1.565
17.372
36.822
2.015
0.725
0.904
1.918
3.120
1.124
1.400
2970
1.357
0.756
0.744
0.520
0.288
1.264
6.240
3.480
2.560
1.440
1.170
0.755

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N
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(G1-G4#T)

UFlg ( 0019
(0022
( 0.025
(0019
( 0.022
( 0.025
(0028

(G2-G3#T1)

UFlg ( 0016
(0019
(0019
(0016
(0019
( 0.022
( 0.025

(G1-G4#T)

Web 2.400

(G2-G3#T1)

Web 2.400

X

X

0.340
0.370
0.450
0.460
0.460
0.600
0.730

X X X X X X X
N N N DD NDNDNDN
+ 4+ + 4+ + + +

0.310
0.310
0.410
0.420
0.420
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0.640

X X X X X X X
N N DD N NN DN
+ 4+ + 4+ + + +

44850 x 2 X

44850 x 2 X

0.012
0.012
0.012
0.012
0.012
0.012
0.012

0.012
0.012
0.012
0.012
0.012
0.012
0.012

—

— N

X X X X X X X

X X X X X X X

13.250
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2.900
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1.800
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2.100

X X X X X X X
N N NN DN NN

X X X X X X X
N NN NN DNN

9.699
4.261
15.909
3.110
1.771
3.700
3.251

N

N

N

N

N

N

N

2 al

41.701

9.009
3.562
13.865
2.816
1.606
3.376
2.848
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N

N

N

N

N

N

N
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{

{

{

{

{

{
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(G2-G3#)
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{

{

{

{

{

{
(G1-G4#r)

V Stiff  0.190
0.140
0.150
0.090

(G2-G3#1)

V Stiff  0.190
0.140
0.150

0.016
0.019
0.025
0.022
0.028
0.025
0.030
0.034

0.014
0.016
0.025
0.019
0.022
0.028
0.030

X X X X

+ 4+ + + + ++ o+

+ 4+ 4+ + + + +

2.400
2.400
2.400
0.150

2.400
2.400
2.400

0.400
0.430
0.490
0.490
0.490
0.500
0.610
0.690

0.340
0.360
0.410
0.410
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0.640

X X X X
N N NN
X X X X

— N N N N
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X X X X X X X X
N N NN DN DNMDNDDN

X X X X X X X
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31
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X X X X
N N NN

0.012
0.012
0.012
0.012
0.012
0.012
0.012
0.012

0.012
0.012
0.012
0.012
0.012
0.012
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X X X X X X X X

X X X X X X X

13.250
5.300
1.600

13.100
1.600
5.000
2.900
2.100

13.650
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3.200

12.700
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2.900
2.100

X X X X X X X X
N N NN DN DNMNDNDDN

X X X X X X X
N NN NN DNN

21.730
9.392
3.258

26.514
3.277

10.380
7.354
6.031

N

N

N

N

N

N

N

N

2 ab

87.936

19.001
7.844
5.491

21.488
9.920
6.635
5.578

3|13 3. 3 3 3 3 3 3

N

N

N

N

N

N

N

N
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75.957

3.648
2.688
44.640
1.674

313 3. 3 3 3 3 3

N

N

N

N
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3.648
2.688
56.160

313 3 3 3

N

N

N
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(G1-G4#7)
HStff 0130 x 1118 x 2 x 8 X 2 = 4651

N

m
0130 x 1180 x 2 x 22 x 2 = 13499 m?
0130 x 1020 x 2 x 10 X 2 = 5304 m?
Ta9 = 23454
(G2-G3#T)
HStff 0130 x 1118 x 2 x 8 x 2 = 4651 m?
0130 x 1180 x 2 x 22 x 2 = 13499 m?
0130 x 1020 x 2 x 10 x 2 = 5304 m?
Yal0 = 23454 p?
-EHTEE

2A1= 41701 + 37.082 + 430.560 + 430.560 + 87.936
+ 75957 + 52650 + 62496 + 23.454 + 23.454 = 1265.850 m?



2) xHERE

- Um*HERE (ESW)

[ 0.942
0.942
L 0.520
0.520
CT 0.494
Guss 0.320
0.340
0.300

- o ] et {4

X X X X X X X X

(SW-1) (4&EFR)

L 0.400
0.360
0.360
Guss 0.300
0.300
0.230

X X X X X X

(SW-2) (2&FR)

L 0.400
0.360
0.360
Guss 0.300
0.300
0.300

- SHERE S E
TA2= 19.188

X X X X X X

+

(18R

300x90x9x13 L = 0300 x 2 + 0090 x 4 — 0009 x 2

= 0942 m

130x130x12 L = 0130 x 4 = 0520 m

CT 95x152x8x8 L = ( 0152 + 0095 ) x 2 = 0494 m
2241 x 2 x 1 = 4222 m?
2256 x 1 X 1 = 2125 m?
1850 x 3 x 1 = 2886 m?
1890 x 3 X 1 = 2948 m?
2270 x 3 x 1 = 3364 m?
0380 x 2 x 6 x 1 = 1459 m?
0400 x 2 x 3 x 1 = 0816 m?
0380 X 2 X 6 X T = 1368 m?
Tal = 19188 m?

100x100x10 L = 0100 x 4 = 0400 m

L 90x90x10 L = 009 x 4 = 0.360 m
2250 x 6 Xx 4 = 21600 m?
2020 x 3 x 4 = 8726 m?
1.950 X X 4 = 8424 2
0470 x 2 x 6 X 4 = 6.768 m?
0330 x 2 x 3 Xx 4 = 2376 m?
0300 x 2 x 6 X 4 = 3312 m?
Ya2 = 51206 m?

100x100x10 L = 0100 x 4 = 0400 m

L 90x90x10 L = 0090 x 4 = 0.360 m
2250 x 6 X 2 = 10.800 m?
20200 x 3 x 2 = 4363 m?
1.950 X X 2 = 4212
0470 x 2 X 6 X 2 = 3384 m?
0330 x 2 x 3 x 2 = 1188 m?
0320 x 2 X 6 x 2 = 2304 m?
Ya3 = 26251 m?
51.206 + 26.251 = 96645 m?
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-EctatT  (FB)
UFlg { ( 0012
{ ( 0012

Web 1.900 x
LFlg { ( 0012
{ ( 0012

V Stiff 0100 x

0115 x

H Stiff 0100 X

0.100 x

Guss 0380 x

- R BT (ISW)

UFlg { (
{ <
Web 1.900
LFlg { (
{ «
V Stiff  0.100
0.115
H Stiff  0.100
0.100
Guss 0.400
L tii=hy
2A3 = 56.965

0.012
0.012
X
0.012
0.012
X
X

X
X
X

+

(28R

4+ 0250 ) x 2 - 0.009

4+ 0250 ) x 2 - 0.009
2486 x 3 x 2

4+ 0250 ) x 2 - 0.009

4+ 0250 ) x 2 - 0.009
1900 x 2 x 4 x 2
1900 x 2 x 1 x 2
2248 x 2 x 6 X 2
0451 x 2 x 4 X 2
0390 x 2 x 8 x 2

(18R

4+ 0250 ) x 2 - 0.009

4+ 0250 ) x 2 - 0.009
2406 x 3 x 1

4+ 0250 ) x 2 - 0.009

4+ 0250 ) x 2 - 0.009
1900 x 2 x 4 x 1
1900 x 2 x 1 X 1
2128 x 2 x 6 Xx 1
0451 x 2 x 4 x 1
0465 x 2 x T x 1
27.868

2.243
2.238

2.243
2.238

2.163
2.158

2.163
2.158

4.621

N

= m

X 2 = 2305 m?
= 28340 m?

X 2 = 4621 m?
X 2 = 2305 m?
= 3040 m?

= 0874 m?

= 5395 m?

= 0722 m?

= 4742 m?
Yal = 56965 m?
X 1 = 2228 m?
X 1 = 1111 5
= 13714

X 1 = 2228 m?
x 1 = 1111 p?
= 1520 m?

= 0437 m?

= 2554 q?

= 0361 m?

= 2604 m?
Ya2 = 27.868 m?
= 84833 m?
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CT
CT

CT 0.696

0.696

0.696

0.696

0.592
0.150
0.150
0.150
0.150
0.240
0.240
0.240
0.240

Guss 0.515

0.510

0.390

0.315

0.310

0.325

0.360

0.400

0.400

0.300

0.400

0.300

0.390

0.490
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N AN AN A AN AN A

LI EE
SA =

Q BEET

X X X X X

X X X X X X X X X X X X X X

1265.85

144x204x12x10

118x178x10x8

3.060
2.960
2.248
3.120
3.110
0.012
0.012
0.012
0.012
0.010
0.010
0.010
0.010
1.000
1.050
0.580
0.400
0.600
0.400
0.400
0.790
0.780
0.580
0.800
0.600
0.750
0.770

+ 4+ + 4+ + + + +

X

X X X X

X X X X X X X X X X X X X X

N
o

— —

N N DN DN NN NDMDNDNMN DN DN DMNMDNMDMNDNDDDD

+  96.65

X X X X X X X X X X X X X X X X X X X X X X

L
L

N NN NN DNDDNDDN
X X X X X X X X

N

—_

N N W W

10

N A~ D

+

( 0144 + 0.204
( 0118

3.110
2.238
2.790
2.960
3.120
2.248
2.800
2970

84.83

X X X X X X X X

+

+ 0.178

104.22

)
)

X

X

2
2

0.696 m
0592 m

N

8.519
2.060
1.565
17.372
36.822
2.015
0.725
0.904
1.918
3.120
1.124
1.400
2970
2.060
1.071
1.357
0.756
0.744
0.520
0.288
1.264
6.240
3.480
2.560
1.440
1.170
0.755

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

N

2 A4

3|13 3333 3 33 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3

N

104.219
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155155 m?
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